ALL KERALA BHAVAN’S SCHOLARSHIP EXAMINATION 2021-2022

TIME: 2 Hours
CLASS: III Marks: 100

GENERAL INSTRUCTIONS

GENERAL INSTRUCTIONS

Read the instructions carefully before answering

1. Please fill up your Roll No. and class in the box provided on the OMR sheet.

2. This question booklet contains 50 questions and 5 Tie Breaker questions. All
questions including ‘Tie Breaker Questions’ are mandatory. Tie Breaker questions will
be evaluated only in case of a Tie.

3. Each question carries 2 marks.

4. Each question has 4 answer choices a, b, ¢, d.

5. For each question, select the best/correct option and darken the bubble completely
against the corresponding question in the OMR sheet provided.

6. Use a blue/black ball point pen to darken the bubble.

7. Darken only one bubble against each question.

8. There will be no negative marking.

I.Choose the correct answer from the options given

1. ‘He is afraid of black dogs’. Here the adjective is
a. Afraid b. He
c. Black d. Dogs

2. Choose the correctly spelt word
a. Physican b. Neihbor

c. Participate d. Handkarchief

3. The past tense of break is
a. Breaked b. Broke

c. Broken d. Breaking



4. The word which means ‘happiness’ is
a. grit

c. glow

5.1 my dinner right now.
a) eat

c) eating

6. What does the suffix ‘less’ mean?
Example: The spider man was fearless.
a. without

c. lot

7. A bunch of ---

a) flowers b) water c¢) cows d) paper

8.487 cm = ----- m ------- cm
a. 4m, 87cm

c. 480m, 7cm

b. glee

d. glossy

b) ate

d) am eating

b. with
d. full of

b. 48m, 87cm

d. 487m,0cm

9. If Ravi puts exactly 4 fish in each fish bowl, how many fish will he use to put in 10 bowls?

a. 20

c. 40

10. 285 less than 1000 is ...

a. 715 b. 751 c. 755

d. 571

b. 42
d. 24

11. The greatest 4 digit number formed using different digits is...............

a) 9999
¢) 9987

12. How many hours are there in two days?

a. 24

b) 9876
d) 1023

b. 48



c. 20 d. 12

13. Which place value will determine the larger number among the given two numbers?
835, 853
a. Hundreds b.Tens c.Ones d. Thousands

14. There are rectangles and circles in the following figure.
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a.6,2 b.73 c.53 d. 4,3

15. A four-sided figure whose opposite sides are equal in length is called ...

a) Star  b) Rectangle c¢) Triangle d) Circle

16. There were 956 people at the party. Out of these 445 are males, 295 are females and the
rest are children. How many children are there at the party?

a.740 b.216 c¢.551 d.661

17. Which one of the following is used to measure temperature?

a. Thermometer b. Anemometer
c. Microscope d. Stethoscope

18.The largest animal in the world is
a. elephant b. blue whale
c. giraffe d. lion

19. Which of the following has a thick stem?
a. Neem b. Tulsi
c. Mint d. Rose

20..In the following list, which one is a bird, but cannot fly?
a. sparrow b. ostrich



c. pigeon d. crow

21.The sense organs are controlled by the
a. eyes b. heart
c. brain d. head

22. Mushrooms are unable to make their own food because they do not have —
a. Carbon dioxide b. Spiracles c. Chlorophyll d. None of these
23. Name the part of the plant which turns into fruit.

a. Root b. stem c. leaf d. flower

24.An animal that lives in water as well as on land
a. Fish b. frog c. carrot d. cat

25. .......is a chemical used for purifying water.
a. Carbon dioxide b. LP G c¢. Chlorine  d. Oxygen

26. The Prime Minister hoists the national flag at the . ....on the Independence Day
a. Qutub minar b. Red Fort c. Victoria Memorial d. Lotus temple

27. On ----, the Government of India launched a national programme called
Swachh Bharat Abhiyan.
a.26 January 2015 b. 22 April 2014 c¢. 2 October 2014 d. 21 March 2015

28. How many colours does a rainbow have?
a.5 b. 6 c.7 d.9
29. Which is a person's first school?
a. Friends b. relatives c. teachers d. family
30. Out of these games, which game can be played without talking?
a. Hide and seek  b. cricket c. dumcharades d. football

31. Braille is a system of printing for the ----------
a. Blind b. deaf
c. dumb d. physically challenged people

32. Raman works in an observatory. He studies space and the objects like planets, stars and
galaxies found in it. What is his profession?

a. Astronomer b. Teacher

c. Dentist d. Pilot



33. The largest planet in the solar system
a. Earth b. Mars
c. Saturn d. Jupiter

34. A clean house is free from

a. Diseases b. Water
c. Sunlight d. Heat
35. ....... was the first person to walk on the moon.
a. Kalpana Chawla b. Galileo c. Neil Armstrong d. Rakesh Sharma

36. Who is the present UN secretary general?
a. Donald Trump b. Barack Obama c. Narendra Modi  d. Antonio Guterres
37. Which is the tallest statue in the world?
a. Statue of Unity b. Spring Temple Buddha
c. Laykyun Sekkya d. Ushiku Daibutsu
38. Name the first Indian woman to win a medal in Badminton at the Olympics.
a. P.V.Sindhu b. P.T.Usha
c. Saina Nehwal d. Sania Mirza

39. What is the new Covid 19 variant called?

a. Omicron b. Zica

c. Alpha d. Corona
40. If Monday = 1, Tuesday = 2, then Thursday = ?

a.5 b. 4

c.6 d.3

41. If the value of BED is 11, then the value DID will be ...
a. 71 b. 8 c. 17 d. 81

42. If you rearrange the word “NOODLN”, you would have the name
of

a. Animal b. city C. sport d. flower



43. How many corners will you get if you fold one corner of a sheet of

paper?
a.5 b. 4
c.3 d. 6
44. 1,2,4,7,11, 16, ?
a. 22 b. 23 c.24 d. 25

45. .School: student : : hospital: ?
a. Patient b. doctor

C. nurse d. medicine
46.If A=1andZ=26,then K= ?
a.10 b. 12
c. 11 d. 9
47. If 'yellow' is called 'blue', 'blue' is called 'white', 'white' is called 'green', 'green' is called

'brown' and 'brown' is called 'red', then what is the colour of milk?
a.Red b.green c. blue d. white

48. Choose the odd one out :

[ORORVRY,

49. If the day before yesterday was Monday, what day will the day after tomorrow be?
a. Friday b. Thursday c. Saturday d. Tuesday

50.Find the combination of numbers so that letters are arranged accordingly to form a

meaningful word
HUMOT
123 45

a.3,4,2,5,1. b3,4,52,1 ¢5,4,3,2,1. dl1,2354



TIE-BREAKER

51. Which one of the following does not take the shape of the container in which it
occupies?

a. Pencil b. Oil

c. Water d. Milk

52. Which is busiest city in the world?
a.a b. an c. the d. or

53. Which is the capital city of Maharashtra?

a. Raipur b. Mumbai c. Jaipur d. Bengaluru

54309 +3=...
a. 103 b.101  c¢. 303 d. 301

55. What fraction of the whole figure does the shaded portion represent ?

a. 1/5 b. 2/5

c.3/5 d. 4/5




